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Calculating	with	negative	numbers	worksheet	tes

Negative	numbers	(or	less	numbers),	indicated	with	a	minus	sign	(-),	I	am	that	we	use	to	count	below	zero.	For	example,	the	countdown	from	3	resembles	3,	2,	1,	0,	0,	-	1,	-	3,	,	-	-	4,	...	First	we	head	further	into	negative	numbers	understanding,	LETA	s	remember	the	following:	Ã	¢	â	¢	To	add	the	values	​​to	a	standard	line,	we	have	to	switch	to	the	right.
Ã	¢	â,¬	â	¢	To	subtract	values	​​on	a	numeric	line,	we	need	to	move	to	the	left.	Online	examinations,	practical	questions	and	auditing	videos	for	each	topic	of	GCSE	Level	9-1!	No	commission,	no	trial	period,	only	complete	access	to	the	best	GCSE	GCSE	revision	platform	of	the	United	Kingdom.	Just	as	positive	numbers,	negative	numbers	can	be	ordered
based	on	the	size.	Biggest	is	the	number	after	the	minus	sign,	the	smaller	number.	This	can	be	very	confused,	so	that	it	helps	to	use	a	number	line:	when	we	add	a	negative	number,	it	is	the	same	as	to	remove	a	positive	number.	For	example:	Begin	{aligned}	5	+	(-	2)	&	=	5-2	&	=	3	END	{aligned}	When	we	subtract	a	negative	number,	it	is	the	same
as	to	add	a	positive	number.	For	example:	Begin	{aligned}	100	-	(-	25)	&	=	100	+	25	&	=	125	end	{aligned}	when	multiplying	negative	numbers,	treat	the	calculation	as	if	the	numbers	are	positive.	Therefore,	there	are	two	rules	to	remember:	when	we	multiply	a	positive	number	with	a	negative	number	(and	vice	versa),	the	answer	is	always	negative.
For	example:	2	times-3	=	-6	when	we	multiply	a	negative	number	with	a	negative	number,	the	answer	is	always	positive.	For	example:	-5	times-7	=	35	When	dividing	negative	numbers,	treat	the	calculation	as	if	the	numbers	are	positive.	So	there	are	two	rules	to	remember:	when	we	divide	a	positive	number	from	a	negative	number	(and	vice	versa),
the	answer	is	always	negative.	For	example:	12	DIV	-4	=	-3	When	we	divide	a	negative	number	with	a	negative	number,	the	answer	is	always	positive.	For	example:	-48	DIV	-6	=	8	Use	a	numeric	line	to	process	the	following:	a)	5	+	3	b)	8-4	[2	trademarks]	a)	Locate	the	number	5	on	a	numeric	line,	then	move	3	values	​​a	Right:	Response:	5	+	3	=	8	b)
Locate	number	8	on	a	numeric	line,	then	move	4	values	​​to	the	left:	Response:	8-4	=	4	Put	the	following	numbers	in	descending	order	of	size:	-35,	-8,	-28,	-40,	-2,	-17	[2	brands]	First	of	all,	draw	a	suitable	numeric	line.	We	need	our	numeric	line	to	include	each	of	the	numbers	above:	So,	we	need	to	add	the	numbers	to	their	correct	positions:	We	need	to
put	the	numbers	in	descending	order	in	size,	which	means	that	we	need	to	list	them	from	right	to	left.	Answer:	-2,	-8,	-17,	-28,	-35,	-40	Calculate	the	following:	a)	55	+	(-	33)	b)	-105	-	(-28)	[3	points]	a)	You	can	use	a	Line	number	To	simplify	this	calculation	Ã	¢	Remember	that	the	addition	of	a	negative	number	is	the	same	by	subtracting	a	positive
number.ã,	the	calculation	can	be	rewritten	as:	55-33	on	the	number	line,	starting	from	55	will	pass	to	33	values	The	game:	Answer:	55	+	(-	33)	=	55-33	=	22	b)	Remember	that	subtracting	a	negative	number	is	the	same	by	adding	a	positive	number.	Our	calculation	can	be	rewritten	as:	-105	+	28	on	the	numeric	line,	starting	from	-105	we	will	move	28
values	​​to	the	right:	Answer:	-105	+	28	=	-77	Calculate	the	following:	a)	24	times	-	4	b)	90	DIV	-10	[3	signs]	a)	Perform	the	calculation	as	if	the	numbers	were	positive:	24	times4	=	96	then	remember	that	multiplying	a	positive	number	with	a	negative	number	gives	a	negative,	so	the	answer	is:	24	times	-	4	=	-96	b)	Perform	the	calculation	as	if	the
numbers	were	positive:	90	DIV10	=	9	then	remember	that	dividing	a	positive	number	with	a	negative	number	gives	a	negative,	so	the	answer	is:	90	DIV	-10	=	-9	You	are	encouraged	to	use	a	numeric	line	Perform	calculations	with	negative	numbers,	but	you	don't	have	to	use	them	if	you	are	at	ease	without.	a)	These	are	two	different	signs,	so	it	must
be	a	subtraction:	3	-	(+	7)	=	3-7	finding	3	on	a	number	line	and	moving	7	to	the	left,	so,	the	answer	is	3	-	(+	7)	=	-4	b)	These	are	two	of	the	same	signs,	so	it	must	be	an	addition:	7	-	(-	2)	=	7	+	2	Finding	7	on	a	line	of	number	and	moving	2	on	the	right,	we	are	so,	so	¬,	The	answer	is	7	-	(-	2)	=	9	c)	in	this	calculation	we	have	two	of	the	same	signs,	so	it
must	be	an	addition.	Note:	the	less	sign	in	front	of	1	does	not	change.	It	has	no	detection	if	the	calculation	becomes	an	addition	or	a	subtraction.	So,	the	calculation	is	-1	-	(-	6)	=	-	1	+	6	Find	-1	on	a	numeric	line	and	moving	6	spaces	to	the	right,	we	get	so,	the	answer	is	-1	-	(-	6)	=	5	a	)	We	are	multiplying	a	negative	and	a	positive	one,	so	the	answer
must	be	negative.	Since	5	times	7	=	35	we	get	that	-5	times	7	=	-35	b)	we	are	dividing	a	negative	and	a	positive	one,	so	the	answer	must	be	negative.	Since	18	DIV	3	=	6	we	obtain	that	-18	DIV	3	=	-6	C)	We	are	multiplying	two	negatives,	so	the	answer	must	be	positive.	Since	4	times	10	=	40	we	get	that	-4	times	(-10)	=	40	Drawing	a	suitable	numeric
line:	forward,	mark	numbers	on	the	numeric	line:	Finally,	enter	the	numbers	in	ascending	order	in	size	by	listing	them	from	left	to	right	.	Answer:	-20,	-13,	-2,	0,	8,	15	Here	we	will	learn	about	negative	numbers,	including	to	add,	subtract,	multiply	and	divide	negative	numbers.	They	are	also	the	worksheets	of	the	negative	numbers	based	on	EDEXCEL,
AQA	and	OCR	exam	questions,	along	with	further	guidelines	on	where	to	go	after	if	you	are	not	yet	blocked.	Negative	numbers	are	numbers	less	than	zero	and	have	a	negative	or	negative	sign	(Ã,	')	in	front	of	them.	More	zero	number	indicated	as	positive	numbers.	If	there	is	no	sign	in	front	of	a	number	the	number	is	positive.	The	line	of	the	number
below	can	see	some	positive	and	negative	whole	numbers	(integers):	orange	numbers	are	negative	values	​​and	positive	numbers	are	positive	values.	Zero	is	not	a	positive	or	negative.	As	you	can	add,	subtract,	multiply	and	divide	positive	numbers,	you	can	do	the	same	with	negative	numbers	if	they	are	integers,	decimal	or	fractions.	When	adding	and
subtraction	of	negative	numbers	use	a	numeric	line:	if	you	are	adding,	move	to	the	right	of	the	number	line.	If	we	are	subtracting,	move	to	the	left	of	the	number	line.	Sometimes	a	question	could	have	two	operations	next	to	each	other:	for	example	4	+	(Ã	¢	'2)	if	the	signs	are	replacing	them	with	a	positive	sign.	If	the	signs	are	different,	replace	them
with	a	negative	sign.	The	following	table	summarizes	this:	as	a	general	rule:	same	Add	signs,	different	signs	subtract.	Similar	rules	apply	to	multiply	and	divide	negative	numbers:	if	the	signs	are	the	same,	the	answer	is	positive.	If	the	signs	are	different,	the	answer	is	negative.	When	multiplying	negative	numbers:	the	same	rules	apply	to	divide
negative	numbers:	in	order	to	add	and	remove	negative	numbers:	if	you	have	two	signs	next	to	each	other,	change	them	to	a	single	sign.	If	the	signs	are	the	same,	replace	them	with	a	positive	(+)	sign.	Ã,	Ã,	ã,	if	the	signs	are	different,	replace	with	a	negative	sign	(Ã,	').	Circle	the	first	number	on	the	number	line.	Use	the	number	line	to	add	or	subtract
your	numbers:	Ã,	Ã,	if	you	add,	go	to	the	right	of	the	number	in	step	2	(Ã	¢	â	€).	Ã,	Ã,	if	you	are	subtract,	move	to	the	left	of	the	number	in	step	2	(Ã	¢	â	€).	Write	your	final	answer.	To	multiply	and	divide	negative	numbers:	multiply	or	divide	the	numbers	normally.Change	the	sign	according	to	need	using	the	rules	to	multiply	and	divide	negative
numbers:	Ã,	Ã,	if	the	signs	are	the	same,	the	answer	is	positive.	Ã,	Ã,	if	the	signs	are	different,	the	answer	is	negative.	Get	the	worksheet	of	free	negative	numbers	of	over	20	questions	and	answers.	Includes	reasoning	and	applied	questions.	Download	for	free	x	Get	the	worksheet	of	free	negative	numbers	of	over	20	questions	and	answers.	Includes
reasoning	and	applied	questions.	Download	FreeFis	You	have	two	signs	next	to	each	other,	change	them	on	a	single	sign.	Six	They	are	the	same	in	the	middle	of	the	calculation,	replace	them	with	a	positive	(+)	sign.	If	the	signs	are	different,	replace	them	with	a	negative	sign	(Ã,	').	In	this	case	you	don't	have	two	signs	next	to	the	other	.2circles	the
first	number	on	the	number	line.	The	first	number	in	the	question	is	The	numeric	line	to	add	or	subtract	your	numbers.	If	you	are	adding,	go	to	the	right	of	the	number	in	step	2	(â	€	â	€	â	€).	If	we	are	subtracting,	move	to	the	left	of	the	number	in	step	2	(â	€	â	€).	In	this	case,	we	are	adding	8	moving	8	spaces	directly	from	(-5)	to	the	numeric	line:	4
Write	your	final	answer.	If	you	have	two	signs	next	to	each	other,	change	them	on	a	single	sign.	In	this	way,	case	you	have	one	and	less	next	to	each	other.	Since	the	signs	are	the	same,	replace	it	with	a	more	(+)	mark.	Circle	the	first	number	on	the	number	line.	The	first	number	in	the	application	is	(-7)	I	use	the	numerical	line	to	add	or	subtract	or
subtract	your	numbers.	In	this	case	we	are	adding	5	moves	5	spaces	directly	from	(-7)	to	the	numeric	line:	multiply	or	divide	the	numbers	normally.	Cambiare	the	sign	using	the	rules	to	multiply	and	divide	the	negative	numbers:	[Color	{Orange}	{-	6	}	{Color	{Orange}	{-	7}	{Orange}	{-	7}	In	this	case	we	have	a	number	that	is	a	negative	number	of	a
negative	number.	The	signs	are	the	same,	so	we	must	have	a	positive	answer.	Imply	or	divide	the	numbers	normally.change	the	sign	using	the	rules	to	multiplying	and	dividing	the	negative	numbers:	[color	{orange}	{-	25}	Ã	00	{blue}	5]	In	this	case	we	have	a	divided	negative	number	For	a	positive	number.	The	signs	are	the	same,	so	we	must	have	a
negative	quotient.	[-	18	Ãƒ	Â	·	(-6)	Ã	¢	â,¬	"3	Ã	£	-	(-2)	^	2	=	In	this	case	we	have	to	do	with	three	different	operations	(+,	£	-	and	Â	·)	And	an	index.	We	need	to	use	BIDMAS	to	determine	the	order	to	calculate.First	Thing	Calculate	is	the	indexes:	Bidmas	(Ã	¢	'2)	2	is	the	same	as	Ã	¢'	2	Ã	£	-	(Ã	¢	'2	)	We	know	2	Ãƒ-	2	=	4	if	the	signs	are	the	same	((Ã	¢	'2
Ã	£	-	(Ã,'	2)),	the	answer	is	positive.	thureforemultiply	or	divide	the	numbers	normally.	For	the	first	part	18	Â	·	6	=	3	Adunately	the	second	part	-	4	=	12Change	the	sign	using	the	rules	to	multiplying	and	dividing	the	negative	numbers:	for	the	first	part,	Ã	¢	'18	Â	·	(Ã	¢	6),	the	signs	are	the	same,	then	the	Answer	is	positive	3.	For	the	second	part	-3	Ãƒ-
4,	the	signs	are	different	so	that	the	response	is	negative	(Ã	¢	'12).	We	sell	with:	circle	the	first	number	on	the	line	of	the	number.	The	first	issue	In	the	application	it	is	3.Use	the	line	of	the	number	add	or	subtract	your	numbers	and	write	your	final	answer.	In	this	case	we	are	subtracting	the	12	By	moving	12	spaces	left	from	3	on	the	line	of	the
number:	Final	answer:	The	following	table	shows	the	temperatures	recorded	in	Leicester	at	different	times	of	the	day	.a)	What	is	the	product	of	the	high	temperatures	east	and	lower?	B)	What	is	the	difference	between	temperatures	at	2	am	and	from	13	pm?	TIME	DEL	DAY	Ã,	2	AM	Ã,	7.00	am	to	1:00	pm,	6	pmtemperature	(^	{circ}	c)	Ã'8	Ã	,	Ã	¢	''	5	Ã
¢	3	Ã	¢	'1	to	calculate	a):	Write	the	highest	and	lower	temperatures.	The	higher	temperature	is	3	Â	°	C.	The	lowest	temperature	is	Ã	¢	'8ÂºC.Multiply	or	divide	the	numbers	normally.	Do	n'ting	the	sign	using	the	rules	to	multiplying	and	dividing	negative	numbers:	[Color	{Blue}	3	Color	{Orange}	3	-8}	In	this	case	we	have	a	number	that	is	a	negative
number	positive.	The	signs	are	the	same,	so	we	must	have	a	negative	answer.	To	calculate	b):	If	you	have	two	signs	next	to	each	other,	change	them	to	a	single	sign.	The	temperature	at	2	am	was	-8	Â	°	C	and	the	temperature	at	1.00	pm	was	3	Â	°	C.	To	find	the	difference	we	need	to	train	from	-8	Ã	¢	â,¬	"3.	In	this	case	you	don't	have	two	signs	next	to
each	other.	The	first	number	on	the	numeric	line.	The	first	number	in	the	application	is	(-8):	use	the	numeric	line	to	add	or	subtract	your	numbers:	if	you	add,	move	to	the	right	of	the	number	in	the	Step	2	(Ã	¢	â	€	').	If	you	are	subtracting,	move	to	the	left	of	the	number	in	step	2	(â	€).	In	this	case	we	are	subtracting	the	3	movements	to	3	spaces
directly	from	(-8)	on	the	line	Greater	negative	means	that	a	larger	number	of	a	larger	numbers	sometimes	assume	that	the	biggest	negative	number	is	greater.	For	example,	students	could	hire	incorrectly	-3	is	greater	than	2	because	3	is	a	greater	number.	It	is	more.	A	negative	number	to	a	power	greater	than	that	of	oneremember	when	a	negative
number	is	raised	to	a	power	greater	than	1	the	resulting	response	could	Positive	or	negative.	When	lifting	a	negative	number	to	a	strange	exponent	the	resulting	response	is	negative,	when	a	negative	number	is	raised	for	a	still	exponent	the	resulting	response	is	positive	signs.changing	when	adding	and	subtractingwhen	adding	or	subtracting	signs
with	negative	numbers	they	only	change	if	they	are	one	next	to	the	other	in	the	middle	of	the	calculation	and	they	are	differtherpractice	negative	numbers	questions	we	have	an;	Ã,	together	to	change	it	to	a	+.	-11	+	8	=	-3	8	9	times	=	72	The	signs	are	the	same	so	the	answer	is	positive.	-8	Times	(-9)	=	72	-144	DIV	3	=	48	The	signs	are	different	so	the
answer	is	negative.	-144	DIV	3	=	-48	We	need	to	follow	Bidmas	here:	(-3)	^	2	=	-3	times	-3	=	9	5	times	9	=	45	18	Div	(-9)	=	-	2	So	we	-	2	+	45	=	43	The	calculation	we	need	to	do	here	is	2	ã,	ã,	9.	There	is	a	to;	Ã,	so	this	becomes	a	+.	2ã,	9	=	2	+	9	=	11	Negative	numbers	GCSE	Questions1.ã,	Ã,	Tilly	has	the	following	6	cards:	You	are	going	to	choose	3
cards	and	multiply	them.	(A)	Ã,	ã,	whatever	the	largest	possible	issue	that	you	can	do	(b)	ã,	is,	whatever	the	smaller	number	possible	that	you	can	do	(6	marks)	(a)	to	identify	2	of	the	following	:?	-9	or	-8	or.	7	(1)	Multiply	-9,	-8	and	to	obtain	72	(1)	properly	multiplying	-9,	-8	and	7	or	504	seen	(1)	(b)	to	identify	2	of	the	following:	..	-9	or	7	or	3.	(1)
Indicates	that	they	work	as	multiply.	(1)	correctly	multiplying	-9,	7	and	3	or	-189	seen.	(1)	2.a	Mr	and	Mrs.	Brown	had	Libbre	198.78	in	their	bank	account.	At	the	end	of	the	month	they	had	to	pay	4	bills,	they	paid	the	tv	license	of	Sterling	57.20,	£	utility	134.78,	auto	insurance	38.25,	and	credit	card	of	pounds	94.	How	much	were	the	Browns
discovered?	(3	points)	Find	the	sum	of	the	4	bills	(1)	deducting	the	cost	of	the	four	bills	from	the	balance	of	the	bank	account	(1)	Cao	-	..	Esterline	125.45	(1)	3.a	Below	is	a	list	of	cities	and	Their	elevations:	Citya	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	25m	New	orleans,	ã,	ã,	Ã,	ã,	-2m	buenos	airesã,	ã,	ã,	ã,	10m	amsterdama	ã,	ã,
Ã,	Ã,	ã,	ã,	-	7m	bakuÃ,	Ã,	Ã,	Ã,	ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	-28m	(a)	is,	ã,	to	which	the	cities	are	below	sea	level?	(b)	Ã,	is,	what	is	the	difference	between	the	share	of	Buenos	Aires	and	Baku?	(5	Marks)	(a)	Baku	(1)	Amsterdam	(1)	New	Orleans	(1)	(b)	10	A	(-28)	Ã,	(1)	38m	ã,	(1)	Now	you	have	learned	as:	Add	and	whole	subtract	both	Positive	negativeMultiply
and	integers	Split	both	negative	positive	numbers	and	negative	RS	at	context	intervals	and	calculate	all	of	your	KS4	students	for	Mathematics	GCSE	success	with	Third	Space	Learning.	Online	One	Weekly	to	a	Mathematical	GCSE	review	lessons	delivered	by	experienced	mathematical	tutor.	Include	more	on	our	Mathematics	GCSE	audit	program.	We
use	essential	and	non-essential	cookies	to	improve	experience	on	our	website.	Please	read	our	cookie	policy	for	information	on	how	to	use	cookies	and	how	to	handle	or	change	cookie	settings.AccectPrivacy	&	Cookies	Policy	policy
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